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Lesson 20: Measuring a Nation's Income - Chapter 23

Learning objectives: 
· Why an economy’s total income equals its total expenditures

· Because every transaction has two parties: a buyer and a seller (500)

· How gross domestic product (GDP) is defined and calculated

· GDP is the market value of all final goods and services produced within a country in a given period of time (502)

· Y = C + I + G + NX (505)
· The breakdown of GDP into its four major components

· Consumption: Spending by households on goods and services, with the exception of purchases of new housing (505)

· Investment: spending on capital equipment, inventories, and structures, including household purchases of new housing (505)

· Government purchases: spending on goods and services by local, state, and federal governments (506)

· Net exports: spending on domestically produced goods by foreigners (exports) minus spending on foreign goods by domestic residents (imports) (506)

· The distinction between real GDP and nominal GDP

· Real GDP: the production of goods and services valued at current prices
· Nominal GDP: the production of goods and services valued at constant prices (508)

· Whether GDP is a good measure of economic well-being    

· It is a good measure of economic well-being for most – but not all – purposes. Some key things GDP doesn’t account for (513):
· Leisure

· Almost all activity that takes place outside of markets

· Quality of the environment

· Distribution of income

Lesson 21: Measuring the Costs of Living - Chapter 24 

Learning objectives: 
· How the consumer price index (CPI) is constructed

· Fix the basket: determine which prices are most important to the typical consumer

· Find the prices: find the prices of each of the goods and services in the basket for each point in time

· Compute the basket’s cost: use the data on prices to calculate the cost of the basket of goods and services at different times. By keeping the basket of goods the same, we are isolating the effects of price changes from the effect of any quantity changes that might be occurring at the same time
· Choose a base year and compute the index: designate one year as the base year, which is the benchmark against which other years are compared. To calculate the index, the price of the basket of goods and services in each year is divided by the price of the basket in the base year, and this ratio is then multiplied by 100. The resulting number is the CPI. (520)
· Why the CPI is an imperfect measure of the cost of living 
· There are 3 problems with the index widely acknowledged but difficult to solve:
· Substitution Bias: some prices rise more than others from one year to the next. Consumers substitute toward goods that have become relatively less expensive. If a price index is computed assuming a fixed basket of goods, it ignores the possibility of consumer substitution and, therefore, overstates the increase in the cost of living from one year to the next.
· Introduction of new goods: because the consumer price index is based on a fixed basket of goods and services, it does not reflect a change in the purchasing power of the dollar when new goods become available. This greater variety makes each dollar more valuable, so consumers need fewer dollars to maintain any given standard of living.
· Unmeasured quality change: if the quality of a good deteriorates from one year to the next, the value of a dollar falls, even if the price of the good stays the same. The opposite is also true. (523-4)
· How to compare the CPI and the GDP deflator as measures of the overall price level 
· The GDP deflator is a measure of the price level as the ratio of nominal GDP to real GDP times 100. It reflects the prices of goods and services but not the quantities produced.

· The first difference is that the GDP deflator reflects the prices of all goods and services produced domestically, whereas the consumer price index reflects the price of all goods and services bought by consumers (526)

· How to use a price index to compare dollar figures from different times 

· You multiply the ratios of the price levels in the two years. For example, to find Babe Ruth’s salary in 2001 dollars, you would multiply his salary in 1931 dollars by the ratio of the price level (CPI) in 2001 to the price level in 1931 (528)
· The distinction between real and nominal interest rates    

· The nominal interest rate is the interest rate as usually reported without a correction for the effects of inflation
· The real interest rate is the interest rate corrected for the effects of inflation. It’s calculated as the nominal interest rate minus the inflation rate (529)

Lesson 22: Production and Growth - Chapter 25 

Learning objectives: 
· How much economic growth differs around the world 
· Income per person in the U.S. is about 9 times that in China and about 14 times that in India. Growth rate of real GDP per person varies between 2.81% for Japan and 1.16% for Bangladesh. Economic growth differs greatly throughout the world (539)
· Why productivity is the key determinant of a country’s standard of living 
· Productivity is the amount of goods and services produced from each hour of a worker’s time. A nation can enjoy a high standard of living only if it can produce a large quantity of goods and services. One of the ten principles of economics is that a country’s standard of living depends on its ability to produce goods and services (541)

· The factors that determine a country’s productivity 

· Physical capital: the stock of equipment and structures that are used to produce goods and services (541)
· Human capital: the knowledge and skills that workers acquire through education, training, and experience (542)

· Natural resources: the inputs into the production of goods and services that are provided by nature, such as land, rivers, and mineral deposits (542)
· Technological knowledge: society’s understanding of the best ways to produce goods and services. Technological knowledge refers to society’s understanding about how the works. Human capital refers to the resources expended transmitting this understanding to the labor force. Knowledge is the quality of the textbooks; human capital is the amount of time that the population has devoted to reading them. (542)
· How a country’s policies influence its productivity growth    

· The importance of saving and investment: because resources are scarce, devoting more resources to producing capital requires devoting fewer resources to producing goods and services for current consumption. Countries that devote a large share of GDP to investment, such as Singapore and Japan, tend to have high growth rates (545)

· Diminishing returns and the catch-up effect: diminishing returns is the property whereby the benefit from an extra unit of an input declines as the quantity of the input increases. Because of diminishing returns, an increase in the saving rate leads to higher growth only for a while. In the long run, the higher saving rate leads to a higher level of productivity and income, but not to higher growth in these variables. The catch-up effect is the property whereby countries that start off poor tend to grow more rapidly than countries that start off rich. This is because in poor countries even small amounts of capital investment would substantially raise the workers’ productivity (547)
· Investment from abroad: a capital investment that is owned and operated by a foreign entity is called foreign direct investment. An investment that is financed with foreign money but operated by domestic residents is called foreign portfolio investment. Foreign investment in a country raises the income of the citizens (measured by GNP) by less than it raises the production in the country (measured by GDP) because some of the income generated goes to the investors (548)

· Education: In the U.S., each year of schooling has historically raised a person’s wage on average by about 10 percent. In les developed countries, where human capital is especially scarce, the gap between the wages of educated and uneducated workers is even larger. A good way government policy can enhance the standard of living is to provide good schools and to encourage the population to take advantage of them (549)
· Property rights and political stability: an important prerequisite for the price system to work is an economy-wide respect for property rights, which refer to the ability of people to exercise authority over the resources they own. Courts serve an important role in a market economy because they enforce property rights. Political instability threatens property rights. When revolutions and coups are common, there is doubt about whether property rights will be respected in the future (550-1)

· Free Trade: Some of the world’s poorest countries have tried to achieve more rapid economic growth by pursuing inward-oriented policies aimed at raising productivity and living standards within the country by avoiding interaction with the rest of the world. However, countries pursuing outward-oriented policies, such as South Korea, Singapore, and Taiwan, have enjoyed higher rates of economic growth. Remember that trade can make everyone better off (551)

· Research and Development: knowledge is a public good, so once an idea is discovered all of society benefits from it. The patent system is another way of encouraging research. It allows inventors to profit from their inventions (for a time) (552)
· Population Growth: high population growth reduces GDP per worker because rapid growth in the number of workers forces the capital stock to be spread more thinly. In other words, when population growth is rapid, each worker is equipped with less capital, leading to lower productivity and lower GDP per worker. Policies that limit or discourage the number of children families may have are a way to try and keep this under control (555)

Lesson 23: Savings, Investment, and the Financial System - Chapter 26 

Learning objectives: 
· Some of the important financial institutions in the U.S. economy

· There are financial markets, which are financial institutions through which savers can directly provide funds to borrowers (562)
· Bond market 

· Stock market

· Financial intermediaries: financial institutions through which savers can indirectly provide funds to borrower (564)

· Banks
· Mutual fund: an institution that sells shares to the public and uses the proceeds to buy a portfolio of stocks and bonds

· How the financial system is related to key macroeconomic variables 
· To simplify the analysis, the net exports disappear from the GDP equation because we assume the economy to be closed

· Y = C + I + G
· Some ways to rearrange this to tell us more about financial markets:

· Y – C – G = I

( Y – C – G is national saving (can be S), the total income in the economy that remains after paying for consumption and government purchases. Can be rewritten as S = I
· Another way to look at national saving is S = (Y – T – C) + (T – G), where T is the amount that the government collects from households in taxes minus the amount it pays back in the form of transfer payments. 

· (Y – T – C) is private saving, the income that households have left after paying for taxes and consumption

· (T – G) is public saving, the tax revenue that the government ha left after paying for its spending (569)

· The model of the supply and demand for loanable funds in financial markets

· The market for loanable funds is the market in which those who want to save supply funds and those who want to borrow to invest demand funds. The interest rate is the price of a loan. The rate used is the real interest rate. The interest rate adjusts to balance the supply and demand for loanable funds.(572)
· How to use the loanable-funds model to analyze various government policies

· Changing taxes would alter the incentive for households to save at any given interest rate, so it would affect the quantity of loanable funds supplied at each interest rate. Thus, the supply of loanable funds would shift. Encouraging saving would result in lower interest rates and greater investment.
· An investment incentive, such as an investment tax credit, gives a tax advantage to any firm building a new factory or buying a new piece of equipment. This would increase the demand for loanable funds and encourage greater investment, higher interest rates, and greater saving. (575)

· How government budget deficits affect the U.S. economy    

· When the government spends more than it receives in tax revenue, the resulting budget deficit lowers national saving. The supply of loanable funds decreases, and the equilibrium interest rate rises. Thus, when the government borrows to finance is budget deficit, it crowds out households and firms who otherwise would borrow to finance investment (576)

Lesson 24: Unemployment and the Natural Rate - Chapter 28 

Learning objectives: 
· The data used to measure the amount of unemployment

· The Bureau of Labor Statistics (BLS) is responsible for measuring unemployment. The data comes from a regular survey of about 60,000 households. Every adult falls into one of three categories

· Employed

· Unemployed: on temporary layoff or looking for a job

· Not in the labor force (601)
· Natural rate of unemployment: the normal rate of unemployment around which the unemployment rate fluctuates (603)

· Cyclical unemployment: the deviation of unemployment from its natural rate
· How unemployment can result from minimum-wage laws

· When a minimum-wage law forces the wage to remain above the level that balances supply and demand, it raises the quantity of labor supplied and reduces the quantity of labor demanded compared to the equilibrium level. There is a surplus of labor. Because there are more workers willing to work than there are jobs, some workers are unemployed (611)

· How unemployment can arise from bargaining between firms and unions

· When a union raises the wage above the equilibrium level, it raises the quantity of labor supplied and reduces the quantity of labor demanded, resulting in unemployment. So when unions raise wages in one part of the economy, the supply of labor increases in other parts of the economy (613)

· How unemployment results when firms choose to pay efficiency wages    
· Efficiency wages is a theory that above-equilibrium wages paid by firms are more profitable because they increase worker productivity. Again, unemployment is the result of wages above the level that balances the quantity of labor supplied and the quantity of labor demanded. Yet there are four types of efficiency-wage theory that support the idea:

· Worker health: better paid workers eat a more nutritious diet, and workers who eat a better diet are healthier and more productive
· Worker turnover: the more a firm pays its workers, the less often its workers will choose to leave. Hiring and training new workers is costly

· Worker effort: high wages make workers more eager to keep their jobs and, there by, give workers an incentive to forward their best effort

· Worker quality: by paying a high wage, the firm attracts a better pool of workers to apply for its jobs (616-8)
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